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=HEE HE(ASISX/F5) 575,382 530, 382 45,000
= 144,000
< 72,600
i 358,782
s& F=HEF A 575,382 530, 382 45,000
= 144,000
< 72,600
e 358,782
SISl 45,000 60,000 A 15,000
< 13,500
i 31,500
402 RI2EX20l A 45,000 60,000 A 15,000
< 13,500
s 31,500
01 RIZEAt2E X 45,000 60,000 A 15,000
OZHIEx= AL 45,000




EX: TAAFCI A
HM: =18 NS (AMEEX/FH)
Sel sE FAEY N (29l & 2)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— BIE ™Y (ZHO0IE) 500,000& x60= 30,000
o 9,000
2 21,000
— BT ™Y (L) 1,000,000 x15= 15,000
& 4,500
= 10,500
L & 169,382 159, 382 10,000
201 LBt ]| 14,630 14,630 0
01 AP 22| H| 14,630 14,630 0
Ogbt4=24| 8,610
— FHEHINASAAME JI2EEZ 1,100 *9000H 990
—0IE0U2 HAxz2 Ta M= 200,000& *5H 1,000
— FHEHINAEAMY ZSED EHFY
246, 2503 *4JH 985
—=SYHAHAEFZE L FAFNHE2H 22t P
el 200, 000 =574 1,000
- FYMENN, ¥Y S PY
150,000 x10& 1,500
—FHEYNWE BYAS REFHIS B2
= M2 55,000 *390H 2,145
—HEN EFHAHAZEXNEAYE JIEEE
1, 1002 *9000H 990
o2gx4 3,920
— =23 2HH 70,000 x17H 23| 2,380
— SR E 2+
0,000 *17H *13] 1,190
— ST EHXII/AJ}G 2H
70,000& x5 *13] 350
OF=1=1:] 2,100,000& 2,100
202 044l 4,752 4,752 0
01 201 b 4,752 4,752 0
OAZHHBUYH YPEX 4,752,000 4,752
401 AlEHIZL 2 0HY| 50,000 50,000 0
01 Al&H| 49,460 49,460 0
OHMEX EF0H2AH LAY 49,460
— Kot & Xz IHs 49,460,000 49,460
03 Al&E 201 Y| 540 540 0
OHMEX EF0H2AH LAY 540
— Kot & XNz IHs
50,000,000% %1.08/100 540
402 SI2tXHE20| & 100,000 90,000 10,000
01 Q228X 100,000 90,000 10,000
OHEX EHHl XA 30,000
OsE 58 XM (LpH 70,000




SN SAASO R0
FH: =HEAE HE(MEISX/F)
Sel sE FAHSY MM CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Sd0IEMe KNEAY (822) 288,000 108,000 180,000
= 144,000
< 43,200
s 100,800
403 XSS =0l & 288,000 108,000 180,000
= 144,000
< 43,200
s 100,800
02 3|23 0l CHSHCH 2 At & HI 288,000 108,000 180,000
OZHIEx= At 288,000
—=dlOlE HMelk& 2,880,000& *100= 288,000
= 144,000
< 43,200
e 100,800
SSFE el A3 MY 20,000 30,000 A 10,000
402 BIZHXHZ 0| & 20,000 30,000 A 10,000
01 RIZEAt =22 X 20,000 30,000 A 10,000
OBESFe ZEo AL B4
5,000,000& =424 €t X 20,000
SdI0IE RNSHE A 53,000 65,000 A 12,000
< 15,900
[ia 37,100
402 QI2H X201 M 53,000 65,000 A 12,000
< 15,900
s 37,100
01 BIZEAt=2 82 X 53,000 65,000 A 12,000
OZHIEx=AL 53,000
—5E LSFY NSHBAY
2,120,000& 255 53,000
< 15,900
[ 37,100
HHE2LAZH (S AIASOIRQ ) (I1EH/ DI E) 32,950 31,840 1,110
Jl2 &3l 32,950 31,840 1,110
JlE&l 32,950 31,840 1,110
201 £B-2%H| 13,750 13,240 510
01 At 22l 13,750 13,240 510
Oger==EH| 13,750, 000& 13,750
202 odl 15,000 14,400 600
01 = LH o4 1l 15,000 14,400 600
A2 (A, HOIU, 328 &4 5)
5,000,000 15,000
203 R =& 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0




2N

SAASCIR

Ha: HYR2HBHI (S AHASCIXQID)(IIEHIIE
©el: = (ol &e)
SA-EH . O (BH) - NBAY - BAS Ol & 04 SSa HDS2
| | | SEVEEEEEI 4,200,000%! 4,200
HPES(CAASCXD)(LBZZHY/WE - 28) 10,000 10,000 0
VE b 10,000 10,000 0
plE=FE = 10,000 10,000 0
702 J|2HE2 10,000 10,000 0
01 JI2dE2 10,000 10,000 0
O=2ZDHYIIZ dE2 10,000,000 10,000




